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I] Choose the correct option                   (𝟏 × 𝟏𝟓 = 𝟏𝟓) 

 

 

1) A square matrix 𝑨 is called singular if –  
 
a) |𝑨| > 𝟎 
b) |𝑨| < 𝟎 
c) |𝑨| = 𝟏 
d) |𝑨| = 𝟎 

 

2) 
𝑨𝒅𝒋.𝑨

|𝑨|
=  

 
a) 𝑨𝑻 
b) 𝑨−𝟏 
c) (𝑨𝑻)−𝟏 
d) (𝑨−𝟏)𝑻 

 
3) Which of the following statements is false –  

 
a) (𝑨−𝟏)−𝟏 = 𝑨 
b) (𝑨𝑻)−𝟏 ≠ (𝑨−𝟏)𝑻 
c) 𝑨−𝟏 ∙ 𝑨 = 𝑨 ∙ 𝑨−𝟏 = 𝑰 
d) (𝑨𝑩)−𝟏 = 𝑩−𝟏 ∙ 𝑨−𝟏 

 

4) If 𝑨 = [ 𝟓 −𝟖
−𝟓 𝟖

], then 𝑨−𝟏 = ? 

 

a) 
𝟏

𝟓
[ 𝟖 𝟓
−𝟖 −𝟓

] 

b) 
𝟏

𝟖
[𝟖 𝟓
𝟖 𝟓

] 

c) 
𝟏

𝟓
[−𝟖 −𝟓
−𝟖 −𝟓

] 

d) Does not exist. 
 
 

 



5) If 𝑨 = [
𝟕 𝟖
𝟐 𝟐

], then 𝑨−𝟏 = ? 

 

a) 
𝟏

𝟐
[
−𝟐 −𝟕
−𝟖 𝟐

] 

b) 
𝟏

𝟐
[
𝟐 𝟕
𝟖 −𝟐

] 

c) [
−𝟏 𝟒

𝟏 −
𝟕

𝟐

] 

d) [
𝟏 −𝟒

−𝟏
𝟕

𝟐

] 

 

6) If 𝑨 = [
𝟎 𝟎 𝟏
𝟎 𝟏 𝟎
𝟏 𝟎 𝟎

]  , 𝒕𝒉𝒆𝒏 𝑨−𝟏 𝒊𝒔 −  

a) –A 
b) A 
c) 1 
d) None of these. 

 
7) If 𝑨 = 𝒅𝒊𝒂𝒈(𝒂 𝒃 𝒄), 𝒘𝒉𝒆𝒓𝒆 𝒂, 𝒃, 𝒄 𝒂𝒓𝒆 𝒏𝒐𝒏 𝒛𝒆𝒓𝒐 𝒓𝒆𝒂𝒍 𝒏𝒐𝒔.  ;  𝒕𝒉𝒆𝒏 𝑨−𝟏 𝒊𝒔 − 

 
a) 𝒅𝒊𝒂𝒈(𝒂−𝟏 𝒃−𝟏 𝒄−𝟏) 
b) 𝒅𝒊𝒂𝒈(𝒃𝒄 𝒂𝒄 𝒂𝒃) 

c) 
𝑨

|𝑨|
 

d) 
𝑰

|𝑨|
 

 

8) If 𝑨 = [
𝐜𝐨𝐬 𝟐𝜽 −𝐬𝐢𝐧 𝟐𝜽
𝐬𝐢𝐧 𝟐𝜽 𝐜𝐨𝐬 𝟐𝜽

], then 𝑨−𝟏 = ? 

 
a) –A  
b) 𝑨𝑻 
c) (−𝑨)𝑻 
d) None of these. 

 

9) The adjoint of the matrix [
𝟑 −𝟑 𝟒
𝟐 −𝟑 𝟒
𝟎 −𝟏 𝟏

]  𝒊𝒔 − 

 

a) [
𝟒 𝟖 𝟑
𝟐 𝟏 𝟔
𝟎 𝟐 𝟏

] 

b) [
𝟏 −𝟏 𝟎

−𝟐 𝟑 −𝟒
−𝟐 𝟑 −𝟑

] 

c) [
𝟏𝟏 𝟗 𝟑
𝟏 𝟐 𝟖
𝟔 𝟗 𝟏

] 

d) [
𝟏 −𝟐 𝟏

−𝟏 𝟑 𝟑
−𝟐 𝟑 −𝟑

] 

 
 



 

10) The inverse of the matrix [
𝟑 𝟐 𝟏
𝟒 −𝟏 𝟐
𝟕 𝟑 −𝟑

]is – 

 

a) 
𝟏

𝟔𝟐
[
−𝟑 𝟗 𝟓
𝟐𝟔 −𝟏𝟔 −𝟐
𝟏𝟗 𝟓 −𝟏𝟏

] 

b) 
𝟏

𝟔𝟐
[
−𝟑 𝟗 𝟓
𝟐𝟔 −𝟏𝟔 𝟐
𝟏𝟗 𝟓 −𝟏𝟏

] 

c) 
𝟏

𝟔𝟐
[
−𝟑 𝟗 𝟓
𝟐𝟔 −𝟏𝟔 −𝟐
𝟏𝟗 𝟓 𝟏𝟏

] 

d) 
𝟏

𝟔𝟐
[
−𝟑 𝟗 −𝟓
𝟐𝟔 −𝟏𝟔 −𝟐
𝟏𝟗 𝟓 −𝟏𝟏

] 

 
 

11) Which of the following systems of equations is consistent ?  
 

i. 𝟑𝒙 + 𝟒𝒚 + 𝟕𝒛 = 𝟏 , 𝒙 + 𝟐𝒚 + 𝟑𝒛 = 𝟏  , 𝟐𝒙 + 𝟑𝒚 + 𝟓𝒛 = 𝟏 
ii. 𝒙 + 𝟐𝒚 + 𝒛 = 𝟕  , 𝒙 + 𝟑𝒛 = 𝟏𝟏  , 𝟐𝒙 − 𝟑𝒚 = 𝟏 

 
a) Only i 
b) Only ii 
c) Both i & ii 
d) None of these. 

 
12) Which of the following systems of equations has 

         infinite number of solutions ? 
 

i. 𝟐𝒙 − 𝟑𝒚 + 𝟒𝒙 = 𝟕  , 𝟑𝒙 − 𝟒𝒚 + 𝟓𝒛 = 𝟖  , 𝟒𝒙 − 𝟓𝒚 + 𝟔𝒛 = 𝟗 
ii. 𝟑𝒙 + 𝟒𝒚 + 𝟓𝒛 = 𝟐  , 𝒙 + 𝟐𝒚 + 𝟑𝒛 = 𝟏  , 𝟓𝒙 + 𝟔𝒚 + 𝟕𝒛 = 𝟑 

 
a) Only i 
b) Only ii 
c) Both i & ii 
d) None of these. 

 

13) The value of  |
𝟏𝟎! 𝟏𝟏! 𝟏𝟐!
𝟏𝟏! 𝟏𝟐! 𝟏𝟑!
𝟏𝟐! 𝟏𝟑! 𝟏𝟒!

|    𝒊𝒔 −  

 
a) 𝟏𝟎 × 𝟏𝟏 × 𝟏𝟐 
b) 𝟏𝟎! × 𝟏𝟏! × 𝟏𝟐! 
c) 𝟎 
d) 𝟐(𝟏𝟎! × 𝟏𝟏! × 𝟏𝟐!) 

 
 
 
 



 

14) If 𝒇(𝒙) = |
𝐬𝐢𝐧 𝒙 𝐜𝐨𝐬 𝒙 𝐭𝐚𝐧 𝒙

𝒙𝟑 𝒙𝟐 𝒙
𝟐𝒙 𝟏 𝟏

|   , then  𝐥𝐢𝐦
𝒙→𝟎

𝒇(𝒙)

𝒙𝟐
= ?  

 
a) -1 
b) 1 
c) 0 
d) -2 

 
 

15) If  two rows (or two colomns) of a determinant are identical , then |𝑨| = ? 
 
a) 1 
b) -1 
c) 0 
d) 2 
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